Differentiation 2 Homework - Marking Scheme

Question | Main points of expected responses
1 (a) Format ol  2x*+12x+18

Correct differentiation 2 4x+12
1(b) Format 3 x—-1

Correct differentiation ot 1
1 (c) Format o x4 2x2

6 -3 4

Correct differentiation ° 1-4x OR 1- 3

2 Correct Differentiation o Y_oax
dx

Substitution and solutionfora | ;2 2,%3-30 g=35

Substitution O3 1=5x%x32+pb

solution for b ' b= —44
3 Correct Differentiation o! 6x% + 6x — 12

Derivative less than 0 o’ ff(x)<0

. . 3

Factorisation . (x+2)(x—1)

Solution ot —2<x<1
4 Correct shape of graph ol vA

(1.5)
Annotation o2
0 3 X

5 Format for differentiation ol 2x3 —16x% +32x

Correct Differentiation o2 % — 6x2 — 32x + 32

. : 3 4y _ 0

Statement for Turning Points A

Factorisation ¢ Bx—4)(x—-4)=0

Solution for x o x=2 x=24

3
Nature o6 Nature Table




Differentiation 2 Homework - Marking Scheme

5 Both coordinates
Correct shape

Annotation - all coordinates
needed for mark
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o’ (32—7}
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6 Midpoint
Perpendicular Gradient
Equation
Midpoint

Perpendicular Gradient

Equation
Evidence of Sim. Equations

Intersection Point

ol Mor = (0,-1)

o2 M, = -3 shouldstatem; -m, = —1

3 y+1=-3(x-0)
ot MPR = (25 , 15)

o5 MJ_ =§
6 y—1.5=3(x—2.5)

o/ y+3x=-1 3y—x=2
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@

should state m; - m, = —1

Total 33 marks



